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(A) What is mathematical economic model? Discuss the one commodity market model with the
concept of its elements and illustration.
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'(B) A three sector economy has the following input — output coefficient matrix.
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- The labour days required per unit of output of these three sectors are 0.4, 0.7 and 1.2
respectively and their consumer output targets are 100, 5000 and 4000 units respectively. The
wage rate is Rs. 100 per labour day. By using matrix, find -
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(i) Give the meaning of matrix. Narrate the various types of matrix with appropriate illustration.
Explain the addition and multiplication rules of matrices with appropriate illustrations.
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(ii) A steel manufacturer produces two types of steel G1 and G2. G requires 2 hours of melting,
4 hours of rolling and 10 hours of cutting. G2 requires 5 hours of melting, 1 hour of rolling
and 5 hours of cutting. Hours available for melting, rolling and cutting are 40, 20 and 50
respectively. Profit margin for G1 and G2 are 24 and 8 respectively. Find out the maximum
profit using graphical method of linear programming.
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(A) Using differentiation, prove that when the slope of marginal cost curve is positive and

marginal cost = average cost then average cost will be minimum.
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(B) A firm in perfect competitioh is producing two commodities- X and Y. The production of 10
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these commodities are respectively “x” and “y” units. The price of commodity “X” is Rs. 25
and of “Y” is Rs. 50. The total cost function of the firm is C = x> + y* -27x -3y +124. Find out
the maximum profit and the level of productions of both the commodities at maximum level
of profit.
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State the usages of partial differentiation in economics.
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Describe the properties of determinant with appropriate illustration.
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1
If the demand function for a commodity is X = 25 — " P and total cost function of a

monopolistic firm is C =50 + 20X. If (i) tax per unit Rs. 8 is levied, (ii) value based tax at the
rate of 25% is imposed, then compare the impact of both taxes on equilibrium.
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Distinguish between function and equation. . [A84 i< %LH’I&QQL 23l Mg 2 52,

Explain the concept of correlation. Discuss types of correlation using diagram and its
coefficient. Explain the relationship between coefficient of correlation and coefficients of
regression with appropriate illustration.
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A buyer tests bursting pressures of the samples of polythene bags provided by two
manufacturers, The test results are given in following table. Using this information find out
which manufacturer’s bag has the higher average bursting pressure and which of them is more
uniform in bursting pressure? How?
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Bursting Pressure (Kgs)
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5—10|10-15|15-20|20-2525-3030-35

No. of Bags ?gfz?afj itf; i 2 9 29 54 11 5
(a{at«ﬂ dvLy | Manufacturer — B 0 » 8 - - 5
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Explain the concept of index number. Discuss the time reversal test and factor reversal test of

index number formulas with illustration.
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Discuss the factors responsible for regression error.
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Using the following data estimate the regression equations.
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Age of wife (Years) | Age of Husband (Years) uld<l Guz (ad) | Total

Yeell{l GHz (a) 20— 25 2530 30-35 | $4
1620 9 14 ~ 23

20 - 24 6 11 3 20

24 28 - - 7 7
Total 4 15 25 10 >0

Explain the meaning, elements and events of pfobability with appropriate illustration.
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Describe the properties of normal and binomial distribution.
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A person earns Rs. 4500 per month. The cost of living index number for a particular month is
given as 140. Using the following data, find out the amount he spends on food and clothing:

wls B WAL 3, 4500 51 8, Alss HIGARL @aq [l viddl 21405 140 9, ] wiledl-l
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Groups ¢ Food | Clothing | House rent | Fuei and light Misc.
BliRls | susi SERCTRS oULARL A dlsyul] | v
Expenditure (Rs) WA (3) | 7 i 1000 600 %00
Group index 6y% ¥slls | 150 120 150 115 140
OR (&udl)

Explain the conditions for consistency of data with illustration.
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Discuss the various constrains in construction of livelihood Index in detail.
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Using the Product moment method, find out coefficient of correlation and interpret the result
for following data.

A3 1Ll AL W12 9 el uLa Al Guaiol 504 weiolls dlHl i A vidlazd sal.

X 78 39 97 69 54 79 60 65
Y 125 137 156 112 107 136 120 110
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